éng” 3100 & 3200 % 5IE T\ B 71 K iR 2§

Sensors &Controls

' One Division of Danaher Sensors and Controls _

Emie

» B h & B & K A3 0-2,200 bar (0-30,000 psis).

rEBRE - RER -
> BT ERE.

FREER - BRBLER.

- BRIEBEHEE.

> 78 ) 7 RS £ ORI RS B — B8 AR B RR AT

> SRR O R E SRS T R RS,

> AT B BOR N E R E(3101/ 3102/ 3103/ 3201/ 3202/ 3203 % 51).
» BB I ENISCE - UL - RoHS S H KR,

ER R
BE 0.25% FS (BB N EE <60 barf B E £0.5% FS).
RERE 0.02% FS/Year (fREETEZEFEmM).
BERE +1.5% FS/100°C (0.83% FS/100°F).
IHEBRE -40°C ~ +125°C (-40°F ~ 256.9°F).
HERE -40°C ~ +125°C (-40°F ~ 256.9°F).
ERAE +0.5% of Span.
EBAE +0.5% of Span.
2R < 1ms.
EEED 8B3R5 Ean8i18100,000,000)% B ETE IR.
ER#HH
@ (3R &) DC0-5V , 1-5V, 1-6V, 0-10V , 0.5-4.5V.
HEE R Vin =Vout + 2V , &5 30Vdc@4.5mA (6.5mAE & H).
®AER 2 mA.
B
B (2485 4-20 mA.
HEER 8-30 Vdc.
RAERER = (LEEER - 8) x50 ohms.
Ee I E R )
BHER DCO0.5-4.5V@4 mA (BBEBERKA 6.5mA).
HEER DC5#+ 0.5V
B e
AEME 17-4 PH Stainless Steel .
BAh#EO SRR AIRERER"
EERPKER P67 (EBREEESRAEBB, BlAIP65)
ZERE BSEN 60068-2-6 (FC) Sine (20G)
BSEN 60068-2-64 (FH) Random (14.1 Grms)
HEPE BSEN 60068-2-27 (Ea) (50G, 11ms)
EMC 100 V/m.
ERRHE CE , UL, RoHS.
EE 35g.
B 45
BHE N
3100 3200 3100 3200
3.5-25 (50-300) 3.0xFS 40.0xFS | 40.0xFS
40-100 (500-1,500) 3.0xFS | 20.0xFS | 20.0xFS
160-400  (2,000-6,000) | 2.0xFS 10.0xFS | 10.0xFS
600-1,000 (8,700-14,500) 05X FS 4.0xFS
1,600 (20,000) o X 2.0xFS | > 4,000 bar
1,800 (25,000) 14xFS 1.8 x FS | (60,000 psi)
2.200 (30,000) TIXFS M5y Fs

A HEEFR NS
Vu)ofow-ﬁch neRTRESRAY

BMNER  BHBRAR

HEIE R

> YIERREOE.

> BB TIER .

- T2

> B AR B

» B ENRIKIL.

» BRZEFRL.

> R0H - SRS

»ZER . RE - B R

» CNG/LPG & B & B HBE 2.

« &
N
C A

7

DIN 9.4 mm § w

Deutsch DT04-4P

M12 x 1P

Packard MetriPack

-1/a



égmsw 3100 & 3200 % 5IE T\ B 71 K iR 2§

Sensors &Controls

' One Division of Danaher Sensors and Controls _

DIN 9.4 mm M12 x 1P Amp Superseal 1.5 DIN72585A1-4, 1 Deutsch DT04-4P  Packard MetriPack

(+) 2 3 2 KEY _— KEY
(o)
wEn ([0 : = =%a
st © W&
‘ X~ L (+) =
* 4 1 4 i
M12x1P
25.9
6.0 = 9235
0.22 —*—+| - 102 +| |¢ 20.93
v 97 ES
0.38 O = l@
* 37.0 32.2
19.3 18.3 1.46 ﬁ
076 072 -
v
BRES | B | & i i & L] L] i [ & & i
Vout 1 - Vsupply | Vsupply Vout 1 - Vsupply Vsupply Ground Return Vout 1 -
Tlmny | TR | (0 | my | TE () (+) () () | mn | TEC
2 Vsupply | Vsupply| Vout 1 g Ground | Return Ground Return Vsupply | Vsupply | Ground | Return A
(+) (+) (BA) (-) (-) (-) (-) (+) (+) (-) (-)
Vout 2 < Ground | Return | Vsupply | Vsupply Vout 1 - Vout 2 < Vsupply | Vsupply
S | eam | TE | () () (+) (+) | (®H) T aE) | TE | )| (+) (B
Ground | Return | Vout 2 _ _ Vout 2 - Vout 1 < . .
AT G ) | e | TE (RE) T | gy | TE
BEAT ERELES (BHEHEEE)
POWER SUPPLY 1200 ]
(_) I‘ ‘ (+) IN (+) 1100
|1 1000
CIMMON ERHH ‘ —~ 900 =
TRANSDUCER 2 800 BAREM (RL)
o (| . |
o
READOUT o igg
&
& 400
® 500 - —
POWER SUPPLY fgg
(-)IH (+) *) o ol
8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
) ) 0 TRANSDUCER PERE (V)
[ * B/NEPEE =50 * (Vin - 24), & Vin > DC 24V.
READOUT * R AEME=50*(Vin-8), E Vin>DC 8V.

) EEFHR i - N
Vigorous Tech ELRBTRBHR LT BANER - BHBRSE P-2/4



éng” 3100 & 3200 % 5IE T\ B 71 K iR 2§

Sensors &Controls

' One Division of Danaher Sensors and Controls _

EORE 04 = 7/16"- 20 UNF- 2A
BE N 15-16 NM

4
inch A inch A inch A
BEORE 1G or4B*=SAE 4 Female 7/16" Schrader
BB 18-20NM
Ny Ny o Ny o
50 50 50
0.20 0.20 0.20 v
Ly X % Ve v L
BRAR 125 |/ 10 125 11.0 —— 16.5
049 ——— 043 049 ——— 043 ——— 065
7 Je——
mm mm mm
inoh A A oA A inch —x

BEORE 05 = G1/4" (#BORR) 0A = 1/4"-19 PT (JIS) 2T=M12x15 (BBER ERELBZHE)
BRI 30-35 NM 30-35 NM 30-35 NM

[EX]
*BAOEOKRBIGARNEEERTE K RB4BEREMRETES .
*BOBASAERERE 19mm , AARYTA22mm , NPTIEM TR A FEA2~3E , BEARFER2~3E,

b i E R

B EREERE
557230 Small DINEZ 25 ¥ 5. B
557703-01M0  M12 E#ESR¥HEEE 1M B E
557703-03M0  M12 JE#EREH TR 3M BELR. E
557703-04M0  M12 E#EEREHEER 4M EFEIR. E
557703-05M0  M12 E#E2R ¥ 5 5E A 5M EBIR. E
WEYERETE  AMP p/n: Housing 282087-1 ; Contacts 3x183025-1 ; Seal 281934-1 ; Boot 880811-2. 6
557701 AMP Superseal Bt #4814 . 6
210729 AMP 3.5 HIREE R, 6
210730 AMP 12 ZEIN & F#RAE. 6
WEYEEEsE  AMP p/n: Socket Conn 1-967325-1 ; Consult AMP for Contacts , Wire Seal and Strain Reliefoptions. 7
557702 DIN72585ft ¥ S X im sR /B 1. 7
WEY RS  Deutsch p/n: Housing Plug DT064S-P012 ; Wedge W4S-P012 ; Sockets 4x0462-201-1631. 8
WEY s Delphi Packard Metri Pack p/n: Body12065286 ; Seal 12052893 , Consult Delphi for Contacts. 9
218760 Packard B $i @ 55. 9
581 Packard BEHEMH (3 R , 1BAWG PVC EfE - A1, B2, 4I3). 9
582 Packard B (6 XR , 18AWG PVC E - H1, B2, 4I3). 9

) EEFHR i - N
Vigorous Tech ELRBTRBHR LT BANER - BHBRSE P.3/4



(Gems 3100 & 3200 %51 B B 1 RIS

Sensors &Controls

One Division of Danaher Sensors and Controls _

BISR-RIgHER

10 B 0016G 1G 9 0 02

3100/ 3200 - R higH |, @ H AR ERERAE. 00-ESE.

3101/ 3201 - §AE#@H |, #E -40°C ~ +125°C , EHERA. 01-142R.

3102/ 3202 - £B2E&@H , #E 0°C ~ +100°C , EHERA. 02-2AR.

3103/ 3203 - B E@m L |, 81E 0°C ~ +80°C , EHEERAR. 03-32R.
04-4 R,
05-51R.

B

B - 4-20mA C-1-6V H-1-5V L BhEE

N - 0.5-4.5V R - 0-5V S-0-10V R.2HEE

T-0.5-45V (LLHIER) O-FEMHES

B & E - bar — BREEALE.

0004G : 0-4 bar (G) 01608 : 0-160 bar (S) 1000S : 0-1,000 bar (S) B - Industrial DIN 9.4 mm.

0005G : 0-5 bar (G) 02508 : 0-250 bar (S) 1600S : 0-1,600 bar (S)? E - M12X1P (4 P|3n).

0010G: 0-10bar (G)  0400S : 0-400 bar (S) 22008 : 0-2,200 bar (S)? e Xg%esn%rjggél 15 Series

88;28 f 8;2 SZ; Egi 0600S : 0-600 bar (S) 7 - DIN72585A1-4,1 S £ 0.

) ©) 8 - Deutsch DT04-4P.

(G)
r(G

0040G : 0-40 bar 9 - Packard MetriPack.
0060G : 0-60 bar

0100G : 0-100 ba

) - EnEmAw

2 :1/4"-18 NPT SR 4K
B H 6 - psi OE :1/4"-18 NPT AIRAL.

050PG : 0-50 psi (G) ~ 10CPG : 0-1,000 psi (G) 10KPS : 0-10,000 psi (S) 4C : 1/4"-18 NPTF JMRAL.

075PG : 0-75psi (G)  15CPG : 0-1,500 psi (G) 15KPS : 0-15,000 psi (S)’ 0A : 1;‘;;3 ZH"@W

100PG : 0-100 psi (G)  20CPS : 0-2,000 psi (S)  20KPS : 0-20,000 psi (S)* gg 4 ,8..:27 NPTF M'ﬁi

150PG : 0-150 psi (G)  25CPs : 0-2,500 psi (S) ~ 25KPS : 0-25,000 psi (S)° 04 - 716"-20 SMRAL (SAE #4, J514).
(S)

200PG : 0-200 psi (G)  30cps : 0-3,000 psi (S)  30KPS : 0-30,000 psi S
300PG * 0-300 psi (G) +0-3,000 psi (S) + 0-30,000 psi 1J 1 7/16"-20 SMBAX (SAE #4, J1926-2).

2

500PG : 0-500 psi (G) 35CPS : 0-3,500 psi (S) 1G: 7/16"-20 RIRAL, FETEE (SAE #4, Schrader).
B00PG  0-600 psi (G) 40CPS :0-4,000 psi (S) 4B : 7/16"-20 PiRAY, R TEET (SAE #4, Schrader).
750PG : 0-750 psi (G)  20CPS : 0-5,000 psi (S) 1P : 9/16"-18 UNF 2A (SAE #6).

60CPS : 0-6,000 psi (S) 01 : G1/4 SMBAL.

75CPS : 0-7,500 psi (S) 05 : G1/4 SMBH(EO-Ring).

OL : M12x1.5 (B L& E < 1Kbar 5 1.5Kpsi).

2T :M12x1.5 6g (BB L &EE = 1Kbar 5 1.5Kpsi).

OK : M14x1.5 EB4%.
* IWETBUE (AR 2 B O iR, SIS THEAS.

{/I%]
CEEHEEREARERASHEER MBEARB: C/H/N/T), EEREEXES 4 BN (NERIEHERTE: B/E/7/8).

- BRERHBEAISY (REERER), THEMEE 2MAHREER.

- BB D EEE0-1,000bar (0-15,000psi) R A LR BB EkEE2TRBE HED,

CEBAGARLNSETHNERERE  SHEBEEIRAS,

- EFARBR HEEE0-700bar (10, 000psu)&uﬂﬁ1§ﬂ§ BERERBAOMERE,

- BAHEORBOENIGEZEZEERE HEE.

0)01-&03[\)—\

. HEBIHEARLT
Vlgmw TéCh V\igoro?s Techra%logy Co.Ltd.

#BINF] 1 40245 AR THEE T2 #1895,

T 55 :(04) 2261-3071 B A BN
2 E :(04)2261-3070 TENEFE : 0925-629765
Skype : vigorous-tech E-mail : tu.brian@msa.hinet.net

http:// www.vigorous-sensor.com brian.tu22@gmail.com P - 4l4



	頁面 1
	頁面 2
	頁面 3
	頁面 4

